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Chapter 8 Review Date Period

NAQ.c. STANDARDS #'S 1-3 Evaluate complex numeric expressions with whole number
exponents demonstrating the ability to use the product, power, and quotient properties SHOW
THE FOLLOWING WORK - (1) SHOW +,-* OPERATIONS TO SIMPLIFY

EXPONENTS, (2) EXPAND, then (2) EVALUATE - impicd
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Simplify. Clearly show work.
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Simplify. Your answer should contain only positive exponents.
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8.3 Class Notes.notebook February 26, 2013

Rules for Simplifving Exponents:

1) Follow order of operations
e ()'s...1mm — out

¢ Exponents
e x.+.LoR
¢ +-..L—>R

2) Treat numbers like numbers and follow OOPs
e (-N)EEN= 4N

® (-N)° =_N
3) Multiplying variable with the same base — ADD EXPONENTS
4) Power to Power - MULT EXPONENTS and use distributive propertv
5) Dividing variable with the same base — SUBTRACT EXPONENTS
0) Anytlung to the ZERO EXPONENT 1t ONE = X0= |



